Growth Patterns Practice
Use the graphs below to answer the questions.

This graph shows the number of yeast cells growing in a bread starter.
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1. What kind of growth does this graph show?

2. What can you infer about the amount of resources available to the yeast?

3. How many yeast organisms were in the starter at 10 minutes?

4. How many yeast organisms were in the starter at 11 minutes?

5. At what time did the number of organisms reach above 100?
6. At what time did the number of organisms reach above 200?
7. Does this graph show a carrying capacity?  Defend your answer.

Graph Two:
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1. What organism is this graph tracing?
2. How many years is does this graph have data for?

3. What is the highest number of beavers found?

4. What type of growth does this graph show?

5. Describe what would happen to the number of beavers in year 140 if the amount of food was doubled.

6. How many beavers were found in year 25?
7. In which two years are the number of beavers 50?

8. How many beavers are found in year 50?

Graph C
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1. What kind of growth is shown in the graph above?

2. What is the carrying capacity of the population shown above?

3. What would happen to the carrying capacity if the amount of food for the population decreased by 1/3?

4. What would happen to the carrying capacity if the amount of food for the population increased by 50%?

5. What is the largest number of guppies found in the pond?

6. In what generation did the smallest number of guppies occur?

7. What was the number of guppies found in year 30?

8. In which generation did the number of guppies equal 45?

9. In generation 130, the amount of food has remained unchanged since generation 120.  Predict the number of guppies found in that generation.
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1. What kind of growth is shown in the graph above?

2. What is the carrying capacity of the population shown above?

3. What would happen to the carrying capacity if the amount of food for the population decreased by 1/3?

4. What would happen to the carrying capacity if the amount of food for the population increased by 50%?

5. What is the largest number of guppies found in the pond?

6. In what generation did the smallest number of guppies occur?

7. What was the number of guppies found in year 30?

8. In which generation did the number of guppies equal 80?

